Item No. . 49 x 42 x 31 inch
Chicken hutch
125 x 107 x 79 cm
A,
)
A
Pos. No. Description Measurement Quantity | Item No.
T
Pos. 1 Upper front panel \\\ 843 x 472 x 25 mm 1 A
g -
S
Pos. 2 |Upper back panel |. 843 x 517 x 25 mm 1
o STEP1
Pos. 3 Bottom panel, front/back \m 843 x 523 x 25 mm 2
Pos. 4 |Left side panel 971 x 716 x 25 mm 1
| 1. Assemble the nesting box: Connect both side panels
pos. 5 |riah sid ;! D | g71x 716 25 L (Pos.9/10) with the back wall (11) and the bottom plate (8). | | 2 Fasten the upper a\?vglltoapsftrr?gtr?r;? Sbizcek panel (1+3/2+3), as
0s. Ight sice pane pr mm Insert the partition wall (13). Then connect the left side panel anel (5) of the slege ing house
of the coop (4) with the nesting box p ping '
Pos. 6 Drawer with metal inlay 840 x 448 x 40 mm 1
Pos. 7 |Middle floor, backside % 840 x 241 x 13 mm 1
T
Pos. 8 Bottom panel for nest box %) 543 x 287 x 26 mm 1
Pos. 9 Left panel, nest box %‘ 30 x 306 x 300 mm 1
Pos. 10 |Right panel, nest box S 30 x 306 x 300 mm 1 - Pral]
S~
Pos. 11 |Back panel, nest box |I%” 30 x 280 x 546 mm 1 - /,!
122 Ai
_ <OANNN
Pos. 12 |Roof plate of nesting box 326 x 18 x 636 mm 1 .H|
'\.\|
Pos. 13  |Middle partition wall, nest box 288 x 248 x 5 mm 1 )
Pos. 14  |Roof ridge 69 x 45 x 792 mm 1
3. Put in the ramp (15) and srew it. Insert the drawer (6) and 4. Screw the roof plate of the nesting box (12) to the left side
fasten the roosting pole. (18) panel.
Pos. 15 |Ramp 895 x 20 x 208 mm 1
Pos. 16 |Roof plate, left 494 x 18 x 766 mm 1
Pos. 17  |Roof plate, right 494 x 18 x 766 mm 1
Pos.18 |Roosting Pole 40 x 40 x 857 mm 1




B

=)

A\

TR

A

W
W A\
O\

A

6. Screw both roof plates (16/17).

A\ N

Final Step. Screw roof ridge (14).

5. Screw the left check strap (I) with the roof of the nesting

box.

<
X
m

Ex4

7. Screw left and right check strap for folding roof.

Small parts

17

49

M6 x 60

M6 x 45

M4 x 50

M4 x 25

M3 x 16

M3 x 12

Carriage bolt with nut

=
9]
4
]
@
x
c
=]
]
o
[
L
c
=]
o
]

Check strap, right
Check strap, left




